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[6] In the Land of Oz they never have two nice days in a row. If they have a nice day, they are just as likely to
have snow as rain the next day. If they have snow (or rain), they have an even chance of having the same the next

day. If there is a change from snow or rain, only half of the time is this a change to a nice day.
a) Find the probablity that the third day is a nice day, knowing that it was sunny on the first day.
b) More generally, find the probablity that the nth day is a nice day, knowing that it was fine on the first day.

¢) Generally speaking, what is the probability to have a nice day in the land of Oz ?
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